4000

3000

2000

1000

-1000

—2000

Adet (ppb)

X2 7 ndf 45.43750
po 642.7 + 129.1

1D pull distribution

Mean
12~ Std Dev
r Underflow
10+ Overflow
X2 / ndf
B Constant
s -
o Mean
| Sigma
6 =
4
o
il ||III|III| il

0.01114 +0.1321

0.9437 + 0.09344

5.114/7

10.47 + 2.60

—0.03261+ 0.14416

0.9365 + 0.1944

-5

-4 -2 0 2 4

6 8




Adet RMS (ppm)

________
o0
o <
(@]

(wdd) sy

_______
<
(o)}

7'196€
€796
¢'196€
T'T96€
0'T96€
'096€
€096¢€
2’096
T'096€
0'096¢€
£'656¢
2'656€
T'696€
0'656¢€
€'8596¢€
2'8596€
1'8596¢€
0'856¢€
v',S6€
€',596¢
¢'LS6E
T',96€
0',56€
¥'956€
£'996€
2'956¢
T'956€
0'956€
€'956¢
2'S56€
T'996€
0'956¢€
€'7S6¢€
2'vS6¢€
T'vs6e
0'vS6€
¥'€96€
£'€96¢
C'€S6E
T'€s6€
0'€s6e
v'¢s6e
€'296¢
2'¢S6¢e
T'cs6e
0'2s6€
v'196€
€'TS96¢€
2'1S6€
T'196€
0'TS6E



4000

3000

2000

1000

-1000

—2000

reg_asym_us_avg (ppb)

X2 7 ndf 45.43750
po 642.7 + 129.1

1D pull distribution

Mean
12~ Std Dev
r Underflow
10+ Overflow
X2 / ndf
B Constant
s -
o Mean
| Sigma
6 =
4
o
il ||III|III| il

0.01114 +0.1321

0.9437 + 0.09344

5.114/7

10.47 + 2.60

—0.03261+ 0.14416

0.9365 + 0.1944

-5

-4 -2 0 2 4

6 8




reg_asym_us_avg RMS (ppm)

________
o0
o <
(@]

(wdd) sy

_______
<
(o)}

7'196€
€796
¢'196€
T'T96€
0'T96€
'096€
€096¢€
2’096
T'096€
0'096¢€
£'656¢
2'656€
T'696€
0'656¢€
€'8596¢€
2'8596€
1'8596¢€
0'856¢€
v',S6€
€',596¢
¢'LS6E
T',96€
0',56€
¥'956€
£'996€
2'956¢
T'956€
0'956€
€'956¢
2'S56€
T'996€
0'956¢€
€'7S6¢€
2'vS6¢€
T'vs6e
0'vS6€
¥'€96€
£'€96¢
C'€S6E
T'€s6€
0'€s6e
v'¢s6e
€'296¢
2'¢S6¢e
T'cs6e
0'2s6€
v'196€
€'TS96¢€
2'1S6€
T'196€
0'TS6E



4000

2000

—-2000

reg_asym_usr (ppb

X2 / ndf
pO

67.56 /50

840.2 +

179

1 IHH l

._
— —

1D pull distribution

0.03274 + 0.1611

1.151+0.1139

247216

8.173 + 1.463

0.33+0.34

1.438 + 0.287

Mean

8-— Std Dev

: Underflow
Un Overflow

[ X2/ ndf
6_

[ Constant
sk Mean

: Sigma
4
3_
2

1

L i L b i

CJOO

) -4 -2 0 2 4




reg_asym_usr RMS (ppm)
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reg_asym_usl (ppb) 1D pull distribution
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reg_asym_us_dd RMS (ppm)
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